Year 4 Worksheet 5: Multiplication

Question 1: Find the product of the following.

2x2=___ 14x3=___  |bxb6=__
O9x4=_  |3xd5=__  |Tx2=___
/[x4=_  |8x4=__ |6x3=__
8x5=__  |9x7=___  |8x9=__
2xf7=__ |3x8=__  |5x9=_
O9x10=__  |4x3=__  |9x5=__
O9x6=__ |4x4=__  |8x8=__
ox6=___  |/x7=__ |9x9=__
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Question 2: Find the product of the following.

2x12=___ 14x13=__ |15x6=___
Ox14=__ |3x15=__ |[7Tx12=_
17x4=__ |8x14=__  |6x13=__
8x15=__ |9x17=__ |18x9=__
12x7=__ |13x8=__ [|15x9=__
Ox14=__ |[14x3=__ |15x5=___
O9x16=__ |4x14=__ |8x18=___
16x6=___ |17x7=__ |9x19=__
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1 Mia has 5 boxes of pencils, and each box contains 8 pencils. How
many pencils does she have in total?

Question 3: Answer the following questions.

2 In a park, there are 6 rows of trees, and each row has 3 trees. How
many trees are there in the park?

3 Emma has 4 baskets, and each basket holds 7 apples. How many
apples does she have in all the baskets?

4 There are 9 students in a classroom, and each student has 2
notebooks. How many notebooks are there in total?

5 A farmer has 3 fields, and each field has 6 cows. How many cows
does the farmer have in all the fields?

Free Math Worksheets « www.successtutoring.com.au



AN

6 There are 5 shelves in a bookcase, and each shelf can hold 4
books. How many books can the bookcase hold in total?

7 Tom wants to buy 6 packs of stickers, and each pack has 9 stickers.
How many stickers will he have in total?

8 Lisa has 7 jars, and each jar contains 3 marbles. How many
marbles does she have in all the jars?

9 A box contains 8 packs of crayons, and each pack has 2 crayons.
How many crayons are there in the box?

10 | At a pet store, there are 6 tanks of fish, and each tank has 5 fish.

How many fish are there in all the tanks?
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Answer Key

Question 1: Find the product of the following

2x2=4 4x3=12 5x6 =30
9x4 =36 3x5=15 /x2=14
/x4 =28 8 x4 =32 6x3=18
8x5=40 9x7=63 8x9=72
2x7=14 3x8=24 5x9 =45
9x10=90 [4x3=12 5x5=25
Ox6 =54 4x4=16 8 x8 =064
6 X6 =236 7/ x7=49 9x9 =281
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Question 2: Find the product of the following %
2x12=24 |4x13=52 |15x6=90
O9x14=126 [3x15=45 |7 x12=84
17x4=68 |8x14=112 |6x13=78
8x15=120 |9x17 =153 |18 x9 =162
12x7=84 |13x8=104 |[15x9=135
Ox14 =126 |14x3 =42 |15x5=75
O9x16=144 |4x14=56 |8x18=144
16x6=96 |17x7=119 |9x19=171
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Question 3:

—_—

5x8=40

6x3=18

4x7=28

9x2=18

3x6=18

5x4=20

6x9=54

7x3=21
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8x2=16
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6x5=30
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